Fairfield Public Schools       Grade 4 Unit 2    Skills Assessment I KEY  (after L12)               

Name : _________________________ Class: ​​​________ Date: ________  

1. Al sold 45,879 pizzas last year.  This year, he sold 10,000 more pizzas than last year.  How many pizzas did Al sell this year? ​55,879


(1 pt.)
2. Jen drove 13,507 miles last month.  This month she drove 1,000 FEWER miles.  How many miles did she drive this month?  12,507



(1 pt.)
3. Circle the number that has 5 hundred thousands, 7 hundreds, and 9 ones.  (1 pt.)


5,079

50,079

500,709

5,007,009


















4. Circle the number that could be marked by the letter X on the number line    (1 pt.)     
above.



57,300

57,800
   58,300

58,800
5. Circle the number that has 5 thousands, 13 hundreds, and 2 tens.     (1 pt.)


6,320  
5,132

51,320
5,130,020
6. Write 3 thousands, 8 hundreds, 7 tens and 8 ones in standard form.   (1 pt.)
3,878
7. How would the value of 782,541 change if the 5 were replaced by an 8?  Circle the answer.  (1 pt.)
3,000

300

30

3

8. What is the value of “6” in 296,354?  Circle the correct answer.  (1 pt.)
60,000

6,000

600

60



9. Circle the number that has 50 hundreds.   (1 pt.)
500,000

50,000

5,000

500
10. Write in standard form: 5 ten thousands + 4 thousands + 6 hundreds + 2.  (1 pt.)
54,602
11.  Write in standard form: 7 ten thousands + 9 hundreds + 5 tens + 4.  (1 pt.)
70,954 
12.   Round the number 7,832 to the nearest thousand.  8,000     (1 pt.)
13. Round the number 9,845 to the nearest hundred.  9,800   (1 pt.)
14. Estimate 587 – 194 by rounding.  The subtract the exact value of 587 – 194.  (3 pts.)
Estimate: 600-200 = 400

Exact value: 587-194 = 393
Is the estimate an overestimate or under estimate of the exact value? overestimate
15. To estimate the sum of 3,892 and 6,785, Julio added 4,000 + 7,000.  Would      Julio’s estimate be more or less than the actual sum?  Explain.
MORE because he rounded both numbers up.
(2 pts. 1 pt must include an explanation that makes sense)
Use the table to answer questions 16-17.

	Town
	Population

	Arno

Bali
Cain

Dino
	16,571
15,972

17,239

16,938


16.   If the towns were listed from least to greatest based on their populations,         which town would be third on the list?     Dino


(1 pt.)
17.   The town Earl has a population BETWEEN the populations of Dino and Cain.  Circle the number that COULD be the population of Earl.


16,589
  16,917
  17,098
   17,425       (1 pt.)
x





60,000





55,000








